
Typo for 3TR4 Chap3

a) p42, Eq.(3.5):

y(t) =

∫ t

0

x(τ)h(t− τ)dτ (1)

b) p48, Eq.(3.8):

E =

∫ ∞

−∞
x2(t)dt (2)

c) p53 first equation:

S(ω) =





2π|Xn|2, ω = nω0

0, elsewhere

d) p53, Eq. (3.20)

S(ω) = 2π
∞∑

n=−∞
|Xn|2δ(ω − nω0) (3)

e) p53, Eq. (3.23)

Sy(ω) = lim
T0→∞

|X(ω)|2|H(ω)|2 /T0

= Sx(ω)|H(ω)|2 (4)

f) p54, first equation:

Sx(ω) = 2π
∞∑

n=−∞
|Xn|2δ(ω − nω0) ω0 = fundamental freq.

g) p54, But
Yn = XnH(ω)|ω=nω0

Hence

Sy(ω) = 2π
∞∑

n=−∞
|Yn|2δ(ω − nω0)

= 2π
∞∑

n=−∞
|Xn|2δ(ω − nω0)|H(ω)|2

= Sx(ω)|H(ω)|2|ω=nω0 (5)

h) p56, line 3: x2(t) = x′2(t) + K2

i) p61: 5.

vi(t) =

{
e−αt t ≥ 0
0 t < 0

j) p62, Figure 3.15(a):
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